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Precalculus Quarterly 1.4-1.9, 4.1 Name: KEY
Quarter 1 Review #1 Date: Period:

Do Now:
. 2z . ) . ) od 1o Ad die
Given 0= 3 answer the following using the SAME unit of measure: / A 90° o %\."/ )80° o T

a) Sketch the angle in Standard Position. Identify b) Find the complement and supplement (if poss.).
the quadrant. 4~ X MusT bor bt poSiHve
o 27M Complemenm = Not possi ble
m ) SypplementT!
- 20 = | I&
573 3
¢) Find a positive and negative coterminal angle d) Convert to degree measure.
QI+, 3 = 2T 4 e~ | &7 QT 1§07 ’
2l =% 7 =| 120
3 ~ 3 - 3 Trad.
T - = T . .‘_”.—-. 2/
F-om = F - Y

, . . . I 1 _:E- = I = 2;m
1 .Determine which of the following angles is complementary to & = a2z G ? Z-
Fra

b 137 T 11
0=— g=—" g=— G=——
@) 0= b 6 © 3 d 6

o

¢) None of these -.-;r

2.The central angle # of a circle with radius 16 inches subtends (cuts) an arc 19.36 inches. Find &.

a) 473519 b) 121 @69.3279“ d) 0.8264 ¢) None of these
- ) . ]
0=2 o= ..’.!1'.5__";’_“ = 1,2) radians , 180° = (43279
birs pa— TMcradians
3. Determine which of the following angles is supplementary to 0 = % )
Sz (§F:d 137 257

a) Q—E Q_F C) G—F d} 9—? e) None of these
2, mT-0 = uIr
a5

4. Find the arca of the sector intercepted by a central angle of 130° and with a radius of 9 in.

1300, TTrad = BN f=dprg = 3 (qin)* (7)) = 9).892in?

[1.10°2d
a) 10.210 in® b) 20.420 in’ @91.392 in? d) 585 in’ ¢) None of these

Sr SH‘- 120" — ®
5. Convert o to degrees < ‘T;—LIM ‘ | S0

a) 47.746° b) 68.755° @150" d) 216° e) None of these
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T cad
(-] q

0=  45°, TLca

L1
q 5:‘0

/T =18 5= 3429/,

6. For a circle with radius = 5 incies, what is the length of the arc intercepted by 45°7

a) 1.963 in @ 3927 in ¢) 9.817 in

d) 225in ¢) None of these

7. Find an angle that is NOT coterminal to an angle with 8 =-250°.

-25D°43L0" +or - MUNNED OF 3606°
v v
a) —970° b) 470° o) 110° (@ ¢) None of these
8. Convert to radians:-225°. . 1T rgd. = -8
(go° )
5n & 5w
a) 1 b) —-1.25 c) 3.927 _T ¢) None of these

9. Convertto D°M'S": 20.876° ¥ 2ndl angle

@20°52’34”

a) 20°52°36” b) 0°21°52”

10. Which of the following functions DOES NOT havc an inv -?;,c

@f(,\) =2 +]]

a) f(x)=2x-5 b) f(x)=x*+9

hix3a) = (Uxaq ) -8 = x+4-8 =

4.DMS

d) 21°51°68” e) None of these

9
ILS MORIZ.
line st

d) f(x)=-2Jx+7

¢) None of these

X+1

11. Find (hog)x) and the DOMAIN of (7o g)x) if g(x)=vx+9 and h(x)=x*-8;

Xx¥9z0 xz2-9

x+1; (.\-3—8)\/,\-+9; (x* -8 \/.n+ x+1;
Bl » i ) AP ‘D:[—.‘),oo) e) None of these
-]
12. For the function f(x)=x-3, x=0: .c‘m m
a. Graph it on the grid provided. X X
b. Explain how you know f(x)has an 1nversc -3 _3 0
‘the graph passes e hori2. k2 4l
+est. Each inypvi NS (Xale 2 12

c. F ind the equation of thc mvcrsc E:nctnon then graph.

X:33 f :<+3
% £40x) = Vxt3

d. Identify the following:
Domain of f(x) E ) )

Domain of /'(x) l -3,00)
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)
Range of f'(x) l O,Ql

Range of f(x)



